[image: image5.emf]How the KE depends on mass

0,000

0,100

0,200

0,300

0,400

0,500

0,600

0,700

0,800

0,900

0 200 400 600 800 1000 1200

Mass [g]

Kinetic Energy [J]


Laboratory report

What the kinetic energy depends on
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Purpose:

The purpose was to find out what kinetic energy depends on and how.

Hypothesis:

The hypothesis was that kinetic energy depends on the mass and on the velocity.

Experiment:

To investigate how the KE depends on mass, the same velocity was used at the experiment and the mass was varied. The three masses were pulled one and one at constant velocity with a dynamometer and the force pulling the object was written down. Then the masses were pushed with an object at constant velocity at the same time (see appendix 1). Distance 1 was measured for each mass and the KE was calculated with the formula Work=force*distance. The results were written down. 

To investigate how the KE depends on the velocity the same mass was used at the experiment and the velocity was varied. The object and the mass were pushed at constant velocity (see appendix 1) Distance 2 was measured and divided with the number of seconds that the distance was completed in, so the velocity was calculated with the formula V=d/s. Distance 1 was measured and the results of this experiment were represented in a graph.
Result: 

See appendix 2 and 3.

Discussion:

It was found that KE is directly proportional to mass and also is directly proportional to the power of velocity, so the hypothesis was correct.
Source of errors:

The dynamometer could be read uncorrectly. The time measured at the second experiment could be wrong, since a normal stopwatch was used, the time depended on the reflexes. 
The table the experiment was performed on could be uneven so the distance the masses went could be affected by this.
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	Mass [g]
	Force [N]
	Distance [m]
	KE [J]

	0
	0
	0
	0,000

	200
	0,5
	0,361
	0,181

	500
	1
	0,395
	0,395

	1000
	2
	0,4
	0,8
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	Mass [g]
	Time [s]
	Velocity [m/s]
	Distance [m]
	KE [J]

	0
	0
	0
	0
	0,000

	500
	1,55
	0,5
	0,118
	0,059

	500
	0,96
	0,8
	0,191
	0,154

	500
	0,65
	1,2
	0,299
	0,3565


3. 
Distance 1





Distance 2








The distance was measured from here so the constant velocity could be obtained.
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